


1. Simple Interest & Compounding: 

Suppose that you invest 500 TL in a bank account with a yearly interest rate of 10% for 15 years period;
a. What is its Future Value by calculating Simple Interest Method?

b. What is its Future Value by calculating Compounding Method?

c. What is the difference between future values of two methods?

2. Loan Payments: If you take out  an $ 12.000 car loan that calls for 24 monthly payments starting after 1 month at an APR of 12%, 
a. What is your monthly payment? 
b. What is the effective annual interest rate on the loan? (Expand two digits) 
3. Growth of Funds: How long will it take an account with $100 to double to $200, (Expand two digits)
a) If you earn 6% per year on your bank account 

b) If you earn 12% per year on your bank account 

4. Perpetuities: A property will provide $10.000 a year forever. If its value is $125.000, what must be the discount rate? 


5. Annuity Value: Your landscaping company can lease a truck for $8000 a year (paid at year end) for 6 years. If the interest rate your company can earn on its funds is 7%. What is the present value of lease payments?
6. Bond Pricing: A General Electric bond carries a coupon rate of 8%, has 9 years to maturity, and sells at a yield to maturity of 7%. 
Hint: Face value is $1000.
a) What coupon (interest) payments do bondholders receive each year?
b) At what price does the bond sell? Assume annual coupon (interest) payments.
c) What will happen to the bond price if the yield to maturity falls to 6%?

7. Bond Prices and Returns: A bond has 20 years   to maturity, a coupon rate 9% and sells for $915. 


One year later, if you sell the bond at a price of $934,80; What is the 1-year rate of return on the bond? 

8. Rate of Return: Steady As She Goes Inc., will pay a year-end dividend 0f $3 per share. Investors expect the dividend to grow at a rate 6% indefinitely.
a) If the stocks currently sells for $30 per share, what is the expected rate of return on the stock?

b) If the expected rate of return on the stock is 16%, what is the stock price?

9. You believe that the Non-stick Gum Factory will pay a dividend of $2 on its common stock next year. Thereafter, you expect dividends to grow at a rate of 6% a year in perpetuity. If you require a return of 12% on your investment How much should you be prepared to pay for the stock?
10. Fill the blanks with appropriate phrases!.

a. Real Assets: Used to produce goods & services such as Tangible: Machinery, factory, offices and Intangible:Trade mark,patents,technical expertise

b. Financial Assets: Claims to the income generated by real assets. Also called securities.

c. Compound Interest is the interest earned on interest.;  
d. Simple Interest is interest earned only on the original investment; no interest is earned on interest.
e. Interest is  The PRICE of the MONEY.

f.   Interest is  the difference between Future and Present Value.
g. Face Value  means the Payment at the maturity of the bond.
h. Coupon Rate is annual interest payment, as a percentage of face value.
i. Future Value (FV) is an amount to which an investment will grow after earning interest.
j. Present Value (PV) is value today of a future cash flow.
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FV (Simple) = 500 * (1+0,1*15) = 1250


FV (Comp.) = 500 * (1+0,10)15 = 2088,62


FV (Comp.) - FV (Simple) = 838,62








=PMT(0,12/12;24;-12000)= -564,88 TL





b)  =EFFECT(0,12;12)= 12,68%











a)  =NPER(6%;;-100;200)= 11,90 











b)  =NPER(12%;;-100;200)= 6,12











r = 10000/125000 = 8%








=PV(7%;6;8000)= $ 38.132,32 TL








Coupon Payment= 1000*8%= $80

















=PV(7%;9;80;1000)=  $1065,15

















=PV(6%;9;80;1000)=  $1136,03














 Rate of Return = Coupon Payment + Capital Gain 


    Coupon Payment = 90


    Capital Gain =(P1 – Po) =(934,80-915) = 19,80


    Total Gain =  90 + 19,80 = 109,80


    Rate of Return = 109,80 /915  = 12%











Expected Rate of Return = (3/30) + 6% = 16%











16% = (3/Po) + 6% >>>> Po = $30





    














r = (Div1/Po) + g  >>> 12% = 2/Po + 6%





Po = 2/6% >>> $33,33 
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